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Ve AL RN

EFRAS R RS
2022 & 12 B
YE& AE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.002 - 0.068 0.009 &
LA i 1.512 0.000 - 0.684 0.124 =
/L4, (HCI) 4,545 0.032 - 0.332 0.168 =
mIbE (HF) 0.306 0.001 - 0.111 0.047 =
— &b (SO2) 15.147 0.047 - 8.061 2.273 =
—4&bi% (CO) 7.578 0.005 - 0.329 0.109 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.720 - 7.585 2.206 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.007 - 0.013 0.009 &
LA 0.756 0.041-0.191 0.125 =
/L4, (HCD 0.756 0.119 - 0.212 0.167 =
wAbE (HF) 0.072 0.028 - 0.055 0.046 s
—&AbiR (SO2) 3.789 1.894 - 2.650 2.266 =
—&Ei% (CO) 3.789 0.047 - 0.153 0.108 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.474 - 2.990 2.220 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) =ED)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0054 &
IR R g ) 7.575 x 107 <6.052 x 1010 =




Ve AL RN

EFRAS R RS
2022 & 12 B
YK AF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.002 - 0.044 0.008 &
LA i 1.512 0.010 - 1.026 0.083 =
/L4, (HCI) 4,545 0.043 - 0.649 0.256 =
mIbE (HF) 0.306 0.004 - 0.078 0.039 =
— &b (SO2) 15.147 0.005 - 3.855 2.308 =
—4& kbR (CO) 7.578 0.008 - 0.403 0.057 =
HELY (NOx)
PL—&/EE (NO2) 30.303 0.880 - 8.029 2.020 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.004 - 0.013 0.008 &
LA 0.756 0.032 - 0.203 0.082 =
ZF/bE (HCI) 0.756 0.176 - 0.500 0.255 s
wAbE (HF) 0.072 0.024 - 0.050 0.039 s
&R (SO2) 3.789 1.741 - 2.681 2.312 =
—&Ei% (CO) 3.789 0.034-0.128 0.058 g
HAY (NOx)
DL=%AEE (NO2) 15.147 1.461 - 2.696 2.023 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
(c) FEREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0011 =
R A 0.0378 <0.0051 &
IR R g ) 7.575 x 107 <5.681 x 1010 =




Ve AL RN

EFRAS R RS
2022 & 12 B
Y% BE
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.001 - 0.026 0.002 &
LA i 1.512 0.000 - 0.892 0.090 =
/L4, (HCI) 4,545 0.023 - 0.295 0.155 =
mIbE (HF) 0.306 0.000 - 0.120 0.054 =
— &b (SO2) 15.147 0.025 - 4.079 2.382 =
—4&bi% (CO) 7.578 0.000 - 1.219 0.060 g
HELY (NOx)
PL=&dE%E (NO2) 30.303 0.786 - 9.127 2.329 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.002 - 0.008 0.003 &
LA 0.756 0.030 - 0.170 0.089 =
#F/bE (HCI) 0.756 0.100 - 0.194 0.154 s
wAbE (HF) 0.072 0.046 - 0.059 0.054 =
— &b (SO2) 3.789 2.015 - 2.862 2.384 =
—&Ei% (CO) 3.789 0.019 - 0.117 0.061 =
HAY (NOx)
DL E/EE (NOY) 15.147 1.249 - 3.726 2.352 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
() FREN (HE{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0013 =
R A 0.0378 <0.0057 &
IR R g ) 7.575 x 107 <6.352 x 1010 =




Ve AL RN

EFRAS R RS
2022 & 12 B
Y& BF
S HeERPRE® R EE R
(kg/hr) (kg/hr) (kg/hr) (/)
(a) |FFEEEH - B/ E(HFETREN AR EE)
(A 2.277 0.003 - 0.026 0.006 &
LA i 1.512 0.025 - 0.333 0.058 =
/L4, (HCI) 4.545 0.053 - 0.376 0.194 =
mIbE (HF) 0.306 0.011 - 0.097 0.054 =
— &b (SO2) 15.147 0.008 - 6.543 2.165 =
—4&bi% (CO) 7.578 0.028 - 0.171 0.116 g
HELY (NOx)
PL—&/EE (NO2) 30.303 0.969 - 6.718 2.532 =
s E
(b) BN - HIME (HEFRENAGEE)
(A 0.756 0.005 - 0.007 0.006 &
LA 0.756 0.043 - 0.090 0.058 =
Z/bE (HCI) 0.756 0.168 - 0.243 0.195 s
wAbE (HF) 0.072 0.049 - 0.056 0.054 =
— &b (SO2) 3.789 1.992 - 2.329 2.167 =
—&Ei% (CO) 3.789 0.099 - 0.134 0.116 =
HAY (NOx)
DL=%AEE (NO2) 15.147 1.972 - 3.029 2.537 =
ETHE
28 HERRE® ERzahiR R
(kg/hr) (kg/hr) (/)
(c) FREHN (HET{LEBFTER)
7K 0.003789 <0.0003 =
S SE VAR 0.003789 <0.0012 =
R A 0.0378 <0.0055 &
IR R g ) 7.575 x 10°° <6.026 x 1020 &




TS RBR B R
YEF R EEE RS
2022 4£.12 B

() EEGERELURE HRIER - BB Ry 101.325 kPa » sg iR Fat BA%E - LIRS
A& 11% RBSHEEIEIE -

(i) TR FTR ARFHRL T - BIZESR VAL T AR SR B E AL Ry 10um B/ -
(iii) fERHT 30 o8 feiet 8 /NRFHUGHANHYFE(E - BRESE ~ B ~ &% ~ 5f - 83~ 87~ &f > PR -
(iv) 1£ 6 2 8 /NEFHURIINEYFH(E -



